[ > h:=proc(P,lambda,X) P+lambda* (X-P) end;
h :=proc(P, A, X) P+ A*(X— P) end

(> P 1:=h(E 1, \lambda,P 0);
X 1:=h(P_O0, \xi, X 0);
X 2:=h(P 1, 1/\xi, X 1);
X 3:=h(E_1,\lambda,X 1);
X 4:=h(P 1, 1/\xi, X 3);
X 5:=h(X 4, \xi,X 2);

P1=E1+\M(PO-EI)
X1:=PO0+&(X 0-P.0)
PO+E(XO0-PO)-E 1-XN(PO-E )
&
X3=E I+ (P O+E(X0-P 0)—E I)
AP O+E(X 0-P 0)—E 1)-%(P 0O-E I)

X2=EI1+AMPO-E 1)+

X4=EI1+M(PO-E 1)+ :

A(PO+E(X O0O-PO)—E I)-AL(P O-E 1) +§(
3

XS=EI1+M(PO-E 1)+

PO+E(X 0-PO)—E I-A(PO—E 1)
g
AP O+EXO-PO)-E 1)-2 (P_O—E_])j

L g
[ > check:=h(X 1, 1/\lambda, X 5);

check:==P 0+&(X 0—-P 0)+ (E_z +A(P O-E 1)

AMPO+E(XO-PO)-E 1)-AM(P O-E 1) (
+ : +§
PO+E(XO-PO)-E 1-A(P O-E I)
g
(P O+EXO0-PO)-E 1)-M(PO-E I
&

j—P_O— ¢ (X_O—P_O)j I\

[ > simplify (check) ;

X0

[>
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